Signal Expected limit [fb] Best aggregated Signal yield (best Expected limit [fb] (best
(full analysis) region aggregated region) aggregated region)
— 88 8 — bby?
PP~ 888 = PPX1 4.80 2b very tight 3.19 9.83
(mg = 1700GeV, m o = 0 GeV)
— 88,8 — bbx}
PP = 888 = POX1 393 2b tight 479 667
(mg = 1000GeV, m 30 = 950 GeV)
55 5 —=0
— —
PP 868~ 41 8.67 4 tight 531 17.2
(mz = 1600 GeV, My = 0GeV)
— 888 —qq
PP~ 888 — 4IY 357 7j tight 7.33 536
(mg = 1000GeV, mz0 = 850GeV)
— 88,8 — ttx)
PP~ 885 "1 12.9 7j very tight 448 207
(mg = 1500 GeV, My = 0GeV)
— 88, g — )
PP~ 868 = i 555 3b tight 5.55 1100
(mg = 900 GeV, m o = 600 GeV)
SHT— Y0
PP X 418 2b tight 579 737
(my = 750GeV, Mo = 0GeV)
ST t— 0
PP A 151 2b medium 175 321
(1 = 600 GeV, m s = 250 GeV)
SHT— Y0
PP A 18600 2b medium 9.37 73900
(my = 250GeV, m L= 150 GeV)
— bb,b — by?
PP A1 26.9 2b tight 5.83 18.1
(mg = 800GeV, My = 0GeV)
— bb,b — bi?
PP i 451 2b medium 213 777
(mg = 500GeV, m 2= 350 GeV)
-394 — qx}, qu + dr(4, 4,5,
PP = 49, q = X1 qu + Gr(1,d,5,€) 14.0 2j tight 7.85 183
(mq = 1200GeV, mﬂ] = OGeV)
_>~=~ﬁ ~OI~ q ~Ial~l~
PP = 49.q = Xy Q.+ Gr(6,d,5,9) 148 4j medium 300 267
(mg = 600GeV, m 0= 0GeV)
1
— 49,9 — qx? 9L +dr(4,4,5,€
PP~ 49, — aXy, L+ Gr( ) 193 4j medium 34.0 902

(mq = 700GeV, mxtll =500 GeV)




